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Grade 7                                 INVESTIGATION                                 

1)  Look for any patterns as you complete the following:
a)  2 
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What can you conclude from the above examples?
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What can you conclude from the above examples?
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      What can you conclude from the above examples?

4)  a) (
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In general  ,  (
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5)  a)  (ab)
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From the above examples, what is (ab) 
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6) (a) 
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(c) In general, 
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7) (a) 
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Using law 2,      
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What inference can you make with the two solutions above?

8) 
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Using law 2, 
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[image: image48.wmf] What inference can you make with the two solutions above?
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